I LR R TR RAR AR R AR AR
R B 55 2 W) 3 ST I
BE M

B
MK

Ny
Jor
-

‘/ A‘: '%/J\:ﬁ?£




APHE R

1SZ N PSS PN VP SERINP S
ZEVEN DL T O de /) — el vt
REAMENE O 1/ e fli v

AL SRV NI T2 N PR

R - N AP 1SS 7 i3

N f5c /N R AR B3 X E
AN B SR IR S 56 45 R (1) I 5 ) it




/N ZIRIAE B RRYE

A =LA &y, i=1,.. N P BES

ELy;]1=4 = A(x;;6) st |
XH, x,..% 5 V[yl=0’ C4l. | | l |
T SR, T sk s
BAFHIMES L) . T N
AP R AR i, RS BERE R BN S

. q =2 : 1 B i 7Y ; —
g(y;4.6%)=]] : exp( (yzg_z A j Kk log L(8)1) 5 KAE S
i ! . P ) E]\ E/\Eo
S I [R5 BUALSR BR (22 455 0 TE ORI AT

log L(8) = 7; Ly —/1(>2<i,6’)] - () = 21: [y, —z(>2<i;9)]

Gi O-i 3




/D MG ERIE X

MRy YEminARE, W7V, e

. 1 (. =V, (- =
g(y,ﬂ,\/) = (27T)N/2 |V |1/2 expli_z(y_/l) V 1(y_/1):|
AR 2 LR EALLAR iR Z

_ 1 o _
Iog L(H) :_Eg[yi _ﬁ’(xi;e)](\/ 1)ij[yj _ﬁ'(xj;e)]
g, AKX ME
— N — —
12(9) = Z LY; _Z(Xi;e)](\/_l)ij[yj _Z(Xj;e)]

i) j=1

Y MEE X T /D R TR 6, R v AERIRE, €
MARSRE R o (SEBs L,y BH S ST, R4 O R e B2 3 HH I
Rz WS, )

4



S B/ — TR A

IRA(GO) L0 ML mEL, B/ Iy — LU A BRI,

l(x;é)zzm:a.(x)e_ 6 WA E, AR
= P R

X a(x) 72 X WAL R AT ek 2 .

FIFERE R R RIS, & Aj=ai(xi), A
720)=(F-A)VHI-1)=(T-Ad)'V(J-Ab)
X0 SRIRHSY, IFARGTE, H
Vy?==2(A"Vy-AVAG) =0

fift RS 2 B D IRVE AN T

= ﬁﬁr% 6, S
0 =(AV'TA AV Y =B] —p

Y, FIZMEREL



N ‘EL N ‘\ »
e B /N B Ah b
WMRA(X;0)72 6 WAEL MR E, e/ I ARREL H BB AS iR
T 1 R4k ORI LR, 845 2R/
22(0)=(-A)V(y-1)
ISR H Aok BB ME, 5 n+ LS A AR
o+ _ H) —G‘l(g(”))-g(g(”))

g = oy’ ) 0’ y°
' 00, G5 i 00.00, - A
AR -
N H+) _ 5 {Z(gm ) 9(n>)} < mmm) §:§(n+1)

e o E RN



BN ZRMGTTERITE

By 2RI TEU = cOVIB,, 6, IELRMER L 1525 1 i T BA 55

f=(AV'A)'AVy=By U =BVB = (ATV A)*

S, ATBURI R R AT

P - -

U =3| 2000 a:;ai(xk)(\/ Dad; (%)
L) 6=6 ’

- W yires = AR &I,
HE5RCFI A —3.



/DN IRAGTEE T E (£E)
$HF A ) S B LM BB, 2% () IR
1@ i 5’2;(2 i

2(6) = 7°(0)+ =
x°(0)=x"(0) 2;11_89@6’]

(6,-6),-6.)

16=0

) 7 N IE DY 2 [

7°(0)= 22 (0)+1= 2, +1

WMRA )R SE ORIk %, R TaHMmE, BAARK BT
A LAEX ] 4% (0) < p2, +VEE “BEXE” , Sl TESEME0 Kb,
AR EFOEAE Ty S A m AR R, (Hgwe Mg ol, #REHE
W 5 ZEHIREV, = covly,, ;s



2 AW /N A5

H—" 2 A0k &4
(%010, 0) = DO, X
j=0

5§50 (— 1)
i - 1IN
AN (HANSH)

>R RS HEUEE O (B0 L R L) -

N

o~

0, =2.66+0.13

72 =455

PrfE iR 22 o, 7 AR H Zz(éoiaéo):)(riin 11 =St ,

RA RE Y -

— 47
<

46

2.6

2.7 28

2.9




% I A /D —SRIEUE (58)

TS I BRI L) < [T
6,=0.931£0.30; ¢, =0.68x0.10; a 1/=

cov[f,,6]=—0.028 = p=—0.90; \"jé\
72 =3.99. . ;

tﬂgééé\tljaéo;gélo 0.4 : '
W O 45 AR e R (S R B D).
EARF T LB A B, 8) — (o, 5,875 cov(iy, ) = 0, N TTT B e B
HVHE, (EEXN B S H N HAR T
> 5t FHA S RAA ST AR B L)

v 2 T

Vx2min =0, SR H =% S .
Y Zeminf B /N S e T B4R

5B B R 7 RS 'l

A PLHPRET R S . 10



ARG B /D ek

PE AL BRSERR B, A B A 1 T B e B S 2 B
B, ReShREFIE, BEATALARSES . TSR/ TR A
72(X) = (X'=X)"V (X '=X) = F/D X = (X, X, ) = ELAH
w,(X)=0, i=1..1 CGEUANARELE) X'=00.%,) = W
SRARTT LR IR I H e T, M ARSI ABEHE Fo, A
72X, a)=(X=X)VHE-X)+2a"w(X) = H/»

W LER, 7EZ058 n YGEARLUS, 8 n+l RINEHA

™ =[ FROWF] ()] [ (x®) + F,Z")®-%)]

RO = g VET ()™, Hor F =Y = | wem S

OX 1 1



=R

ARG O T BB

NZIRIR(E

Az n+l OEARUGE, g RN BTk

fERL T S5t t, TR
Cr TN ELRE T R A DY Bh A
(4-C fit) 5l pi & (1-C fit),

ZZ ()—(>(n+l) ’ a(n+l)) . ZZ ()—(»(n) ’ a(n))
)(2 ()—(>(n+1) , a(n+1))

—) Zriin - Zz(l)

+
(Frd

B, S ge M A AR TP AR
+ £ 0 _0 ) { HW
O ST Yy ol A‘ "
ARARREQERRNANN 2 f I W
AT RNEEEE T ) Ty

MR p £ (EH, Al
FMAHR =AW, #E171-C
UG, SEEG T 1 RS R

<

% B 11,05
™

M= (RAW) GeV

T

)

f(R)| < &, K g e, 0 MR IR 207 RREAT «

l%%ﬁ%ﬁﬁ
1

A R
w.
d’l
i tll\
AT
-l.r.l' Lf"_'.._L[,ﬂ

N3
o J' e . A,

LR

o 1 I 3

M, 2% (FIT) GeV

12



S 06 e/ —IRIE I S

Wy, i=1,.. N ARV E A, T EB A0)R6, TR L,

SR IR B

Ay 2min ARMAE N-m 5 BB R 5/ SR = 5 R 2000 A

ﬁ%%ﬁﬁpﬁiPzglfamgm <
{51 41 % A T T S B 5 00
72 =3.99,N-m=3—- P =0.263

Wyt e U, BERSLEZIX, H26.3%
H@{Ejg‘j(ﬂ: szin o

IR T 7K 2 U5
y2 =455 N-m=4—->P=3.1x10"

01 F

02 H | K

— ;{2 from MC experiments
---------- S ng=3)

. 471000
L SRR S

13



MEIESIRER&R/IME

NG REFFATRE L DG (X ZIRR)

> 2 e ot /IME I AR A 47 Y G v iRk 22 s
> % 2min TN G & IR -

(R G, AT LA B AR AL, (HIRFFIRZEAE,

15 -
6, =2.66+0.13 f,=2.84+013

y2 =455 Zmin =448 of
_—  TESEEHH, |

{B szin /}E“ﬁ,}r”To
v2(Go) Mz A2 MR, KWE ’
) KRS A EL . HR TR IR
KA, BIRZEFRAE .,

— §,=284+0.13
v’ =4.48




MEE S RERNS/ME(E

>l s = S YR BAN:

WIS MNZ Z K, it s 0 i 2 9.
B2, EIAGEFRAME B ST IR,
>P-{H 75 UrdkdT]:

IR R, JFHSEIRER T 2K, LS BRIE ST 2min
TEMNGHTEREENLLREZ D,

P-{EAME, W THA, HIFETE RLE .

T
\

15



%/J\:%‘Jzﬁ\héj\l:%w%
e N AXTE, TN n R E 7B,
Bt R oy f(x;0), A

f{x)

— normalized histogram
-— - fitted pdf

y. = 55 i ANDX ] [ AL
4,(8)=n[" 1 (x;8)dx = np, ()
BN el A TR A M
e Ay —a(@): ot=Vlyn
0 — | | o .
2O = 2T ST AT

AR, ey RN IRE R T U,
12 yi B MIAR AR BEY AR =, TN FoprEsshiy s

o’ =2(0) (Fe/h3Rik) AT IR B /IS ST R 2R 25 8 43 A
PR K (B 5E S0) o

ol =y, (BUHERIE/D %) 16



B /N VA I A — AL )t

R e — s 5. i, SIS HY, JH50—Eils.

2 (6,v)=v[h T(x:0)dx =vp,(6)

S Zriin
A 1} (AL Vig =N+
v X n a2 MR gHE, - 2
- 2
VMLS = n_Zmin
%10 n = 4009k, N = 20X [
1 AWEY N b,

< 60 I data (400 entries) {b)

=
< 80— data (400 entries) {a)

---------- ML: %2 =17.6, ¥ = 400.0 + 20.0

-- LS ;<2:1?.1.c':403.5¢20.'2” --— LS ¥ =17.3,v =400 r.:ﬂxed). & E@*HXﬂ‘_L%%/_‘K\/Ej(o

---------- MLS: ¥?=17.8 #=382.2+19.5

fEE PRI 7 1 INER
Jah HEAS 2 n,

BN i U Bk
ISR EN,




FEPAW &/ &

HISTOGRAMTIT id func [ chept np par step pmin pmax errpar ]

Only the parameters, which are of more general use, are described in detail. For an up to date description of this
command have a lock in the online help or in the reference manual.

ID A histogram identifier (1-dim or 2-dim)
A bin range may be spectfied, e.g. Histe/Fit 10(26:88) ...

FUNC Name of a function to be fitted to the histogram.
This function can be of various forms:

1 The name of 3 file which contains the user defined function to be minimized. Function name and
file name must be the same. For example file FURC . FOR 13

FUNCTION FUNC(X) or FUNC(K,Y) for a 2-Dim histogram
COMMON/PAWPAR/PAR(2)

FUNC=PAR (1) #X +PAR(2)+EXP(-X)

END

2 One of the keywords below (1-dim histograms only). which will use the parameterization de-
scribed at the right for the fit.

G Func=par(1)+exp(-0.5%({x-par(2))/par(3)) +*2)
E Func=exp(par (1)+par(2)sx)

Pn Func=par(l)+par(2)sx+par{3)*x**2, , +par{n+l)*x**n, 0<n<20

{1 4n: PAW>ve/cr par(3) r 100 0 1;h/fit 100 g ! 3 par (#4540 1)
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